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(2) Statistical table will be provided on request.

Explaining negative binomial distribution state the 10
properties of it.
There are 7 red and 4 white balls in a box. 3 balls 5
are taken at random. Find the probability that
(1) 2 balls are red and one is white
(2) All are red balls
(3) All the balls are of one colour
Ramesh is a basketball player. He is a 70% free 5
throw shooter. That means his probability of making
a free throw is 0.70. During the match what is the
probability that he makes his third free throw on his
fifth shote

OR
Write short note on Geometric distribution and also 10
obtain mean of geometric distribution.
A specific location has a 10% chance of rain on any 5
given day. What is the probability that it will take a
week to rain on two separate days ?
4 cards are drawn at random from a pack of 52 5
cards. Find the probability that there will be atleast
an Ace.

Explaining Hyper geometric distribution state the 10
properties of it.
A dack of 20 cards there are 6 red and 14 black 5

cards. 5 cards are drawn randomly without replacement.
What is the probability that exactly 4 red cards are
drawn ?
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(C) For a normal distribution Q; = 30 and Q, = 50 5
then find mean, median, mode, S.D. and mean deviation

(M.D)

OR

2 (A) State the probability function of normal distribution 10
and also write the uses of normal distribution.

(B) A coin is tossed 5000 times. Find the probability of 5
head will be more or less 50 than 2500 heads.

(C) For a normal distribution Q3 = 40 and Q; = 25 then 5

find X, M, Z an Q.D.

3 (A) Write about charts for variables and charts for 10
attributes and also state the differences between them.

(B) Write short note on “Theory of Runs”. 5
OR
3 (A) Draw X chart and also state your conclusion 10

about the production process.

Sample No | 1 2 3 4 5 6 7 8 9 10
X 11.2 [11.8 [10.8 |11.6 |[11.0 |9.6 |{10.4 9.6 |10.6 | 10.4
R 7 4 8 5 7 4 8 4 7 9

For n = 4, Az = 0.729, Dy = 0, D, = 2.282

(B) If p based on a sample size of 300 is 0.45 compute 5
the UCL and LCL for P and np chart.

4  Explain : 15
(1) Producer’s risk and consumer’s risk
(2) O.C. Curve
(3) Single Sampling Plan.
OR
4 (A) Find the ATI for N = 2000 n; = 50, n, = 100 10

C; =1, Cg = 4 where P' = 0.02 is given.

(B) For single sampling plan [100, 10, 1] A’ is given 0.01 5

then find the risk of producer.
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